No. Object of testing

Periodical axial slip
of spindle and
run out of spindie

| 2 Run out of
, spindle nose
centring taper

_— —==L. e —

3 Fun out of
internal taper of
spindle

Paralielism of
receiving taper in
failstock

' A = senkrecht
vertical plane
B = waagrecht
hornzontal plane

Headstock and
tallstock
centres for same
herght
5 | above reference plane
Receiving taperin
spindle (MT 3)
Receiving taper in
taiistock (MT 2}

Paralfelism of
spindle axis

& | A=senkrecht
vertical plane

B = waagrecht
harizontal piane

7 Parallelism of
spindle axis with
fongitudinal
movement of upper
slide

B Run out of
jaw chuck

Run out of
jaw chuck

9 Test pin

A & 20mm

B &J 30mm
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